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FILE *fp = fopen(file, ‘r’);
char *line, *tok;
line = read_line(fp);
tok = strtok(line, “_”);
char *p = tok + strlen(tok);
while (p > tok) {
if (!c_isdigit(*p)) break;
p--3
}
if (*(p - 1) != “"7)
*p = \0’;

wget-1.

void ftp_parse_vms 1ls (char *file) {

// false alarm #1

// true alarm (buffer underflow)
// false alarm #2
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Ol 2 M 1 void ftp parse vms_ls (char *file) {
2 FILE *fp = fopen(file, ‘r’);
3 char *line, *tok;
4 line|= read_line(fp);
Edge(4,5) 5 toki= strtok(line| “_”);
| 6 char *p = |tok|+ strlen(tok);
7 while (p > tok) {
Path(4,5) Edge(5,6) 8 if (!c_isdigit(*p)) break; // false alarm #1
‘\\‘\\,/’//' 9 p--;
10 }
Path(4,6) 11 if (*(p - 1) = “~”) // true alarm (buffer underflow)
12 *p = \0’; // false alarm #2
13 }
Alarm(11)
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void ftp_parse_vms 1ls (char *file) {

FILE *fp = fopen(file, ‘r’);
char *line, *tok;
line = read_line(fp);
tok = strtok(line, “_”);
char *p = tok + strlen(tok);
while (p > tok) {
if (!c_isdigit(*p)) break;
p--;
}
if (*(p - 1) != “"7)
*p = \0’;

Edge(7,8) || Path(6,7) || Edge(7,11)
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~_ - _—
— Overflow(8) Path(6,8) Path(6,11) Overflow(11)
Alarm(8) Alarm(11)




Edge(7,8) || Path(6,7) || Edge(7,11)

XA y7t x| g yol LHE 227} o
Path(x, yic [1[= E==8 Z=0| £|H,
Path(x, . - . Overflow(8) Path(6,8) Path(6,11) Overflow(11)
Alarm(y) :- Path(x,y) N\ Overflow(y) T~ _— ~ _—
Alarm(8) Alarm(11)
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Path(6,8) Overflow(8)

Overflow(8)  Pr(Alarm(8) | H)

\/
Alarm(8)
Path(6,8)
Path(x, y) :- Edge(x, y) TRUE
Path(x, y) :- Path(x, z) \ Edge(z, y)
Alarm(y) :-Path(x,y) N\ Overflow(y) FALSE
TRUE
FALSE
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Edge(7,8)

Path(6,7)

Edge(7,11)

\/\/

=

Overflow(8)

Path(6,8)

Path(6,11)

Overflow(11)

\/

Alarm(8)

\/

Alarm(11)

51E 52

Pr (Alarm(8)) = Pr (Alarm(8) | Path(6, 8), Overflow(8))
x Pr (Path(6, 8) | Path(6, 7), Edge(7, 8))
x Pr (Path(6, 7) | ...
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x Pr (Edge(7, 8))
x Pr (Overflow(8))
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Pr(Path(6,7)) =0.93

Edge(7,8)

Path(6,7)

Edge(7,11)

B~

Overflow(8)

Path(6,8)

Path(6,11)

Overflow(11)

~

Alarm(8)

~ _—

Alarm(11)

Pr(Alarm(11)) =0.91
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Pr(Path(6,7)) =0.93
Pr(Path(6,7) | ~Alarm(8)) = 0.81

Edge(7,8) Path(6,7) Edge(7,11)
Overflow(8) Path(6,8) Path(6,11) Overflow(11)
\ /
EH Alarm(8) Alarm(11) Pr(Alarm(11)) = 0.91

Pr(Alarm(11) | -Alarm(8)) = 0.40
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char *p = tok + strlen(tok);

while (p > tok) {

—

Edge(7,8) Path(6,7)

0.93 = 0.81

Edge(7,11)

/

Overflow(8) Path(6,8)

Path(6,11) | | Overflow(11)

\

&1 Alarm(8)

/

Alarm(11)

0.91 = 0.40
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5 ... 0.99 = 0.98
6 char *p = tok + strlen(tok);
7 while (p > tok) { Loop(7)
5 0.93 = 0.81
Edge(7,8) Path(6,7) Edge(7,11)
\ /
Overflow(8) Path(6,8) Path(6,11) Overflow(11)
\ /
§!| Alarm(8) Alarm(11) 0.91 = 0.85
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5 ... 0.99 = 0.98 Cmd := Lv:=e | Assume(e) | Call(e,e) | Loop(e)
6 char *p = tok + strlen(tok); Lv := x | *e
7 while (p > tok) { Loop(7) e = n|Lv|ete | ...
8 T 0.93 = 0.81 Simplified C syntax
Edge(7,8) Path(6,7) Edge(7,11)
| P
Overflow(8) Path(6,8) Path(6,11) Overflow(11)
\ /
§!| Alarm(8) Alarm(11) 0.91 = 0.85
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Path(x, y) :- Edge(X, y)

Path(x, y) :- Path(x, z) A Edge(z, y)
Alarm(y) :- Path(x, y) /A Overflow(y)

Edge(7,8) Path(6,7)

Edge(7,11)

Overflow(8) || Path(6,8) || Path(6,11) || Overflow(11)

\/

Alarm(8)

\/

Alarm(11)
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Path(x, y) :- Edge(x, y)

Path(x, y) :- Path(x, z) /\ Edge(z, y) \ Loop(z) /I p
Path(x, y) :- Path(x, z) A Edge(z, y) \ 'Loop(z) // .99
Alarm(y) :- Path(x, y) A\ Overflow(y)

Loop(7)

Edge(7,8) Path(6,7) Edge(7,11) l

Overflow(8) || Path(6,8) || Path(6,11) || Overflow(11)

Alarm(8) Alarm(11)




Path(x, y) :- Edge(X, y)
Path(x, y) :- Path(x, z) /\ Edge(z, y) \ Loop(z) /I p
Path(x, y) :- Path(x, z) \ Edge(z, y) \ 'Loop(z) // .99
Alarm(y) :- Path(x, y) A\ Overflow(y)
Loop(7)
Edge(7,8) Path(6,7) Edge(7,11)

Path(6,8) || Path(6,11)

Overflow(8) Overflow(11)
Alarm(8) Alarm(11)
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Before After
145 107
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Path(x, y) :- Edge(x, y)

Path(x, y) :- Path(x, z) /\ Edge(z, y) \ Loop(z) /I p
Path(x, y) :- Path(x, z) A Edge(z, y) \ 'Loop(z) // .99
Alarm(y) :- Path(x, y) A\ Overflow(y)

Loop(7)

Edge(7,8) Edge(7,11)

Path(6,7)

Overflow(8) || Path(6,8) || Path(6,11) || Overflow(11)

Alarm(8) Alarm(11)

Before

50% 2 CF = A 74

=> st 2t HE

After

145 176

6 5

54 89
122 127 26
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Path(x, y) :- Edge(x, )
Path(x, y) :- Path(x, z) \ Edge(z, vy)
Alarm(y) :- Path(x, y) /\ Overflow(y)

Edge(7,8) Path(6,7) Edge(7,11) l

Overflow(8) || Path(6,8) || Path(6,11) || Overflow(11)

Alarm(8) Alarm(11)
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